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a—F fn Eik ) BERR (kg) &% (F) = o i PE H (EEAL)
31200 LB 4 19 1 1 1 BW 183k
39630 EEA~A Y 5 1,210 76 76 65 & 173
31950 HRX 5 3,240 216 216 216 | B 153K
31900 Ra¥ 1 756 756 756 756 | BN lkg
31900 X 4 5,238 162 108 108 | B 3945
32800 125 1 864 86 86 86 &M 103
34300 729 19 998 27 5 ° 2| B 964
34330 | £ 31 5, 222 54 39 11| 5W 15474
34100 | &K 8 1,787 49 43 13 BM 39K
34200 B 26 4,417 238 238 119 | BN 26kg
34500 bE—= 14 4, 050 389 389 108 B l4kg
34570 STYH N 1 270 270 270 270 | &M 143
Y3033  ZZHAL 95 11,502 162 162 54 BN 95kg
34930 LA 23 4,128 86 86 11BN 764
34980 | ~b E 4 778 76 76 11 BH 127
35940 AE¥AEA 118 48, 136 486 378 356 | B 118kg
34800 B 5 11 8, 888 97 76 49 1 B 114% > b
36340 B LN AHEE : 19 2, 488 216 162 11 BH . 19kg
34600 LL&ESMH L 1 83 119 119, 119 | B . 1lkg
37600 A x 9 5 2,916 756 540 540 | BN 5kg
49470 SNy vz T A— 9 8, 316 97 97 86 BN 90{A
71011 A7 L —% . 18, 749 43 32 3 BA 1, 0704
71040 EANE 1,814 65 65 65 | B 284K
71161 4& (#) 2,635 11 11 11 BW 2447 v b
71184 fk=va v 3, 661 43 43 25 BN 1054
30100 72\ I A L 70 8, 208 130 108 108 | F2¢ 707
30300 A% L 50 10,260  2,052| 2,052 2 052|dt#EE 5 —=x
30300 A% L 100 8, 100 1, 080 756 - 324 HH 1047 — =
31100 B3 L 15 3,564 3,564 3,564 3,564 EEF 1 — 2R
Y5005 4 AKZEA 5 1,566 1,566 1,566 1,566 | K4y 17— =
Y5005 4 7k3E A 6 765 32 24 24 | K5y 3048
31700 F ¥ 150 20, 088 1,620 1,296 1,080 ELES 1547 — 2
31950 HAE L 6 1,944 972 972 972 REIE 27— A
31900 M E M 5 3, 240 324 324 324 IR 103 (500g)
31930 ¥ 6 4, 266 76 76 65 K4y 6048
32800 4z 53,99 86 76 76 mE 503k
34300 73 2L 35 16,308 2,700 2,700 1,620 BEA T — %
34400 R k 24| 5,832 972 972 972 K%y 67 —= |
34400 h= R Y 8 2,052 1,080 972 972 fEA 2k —=2 |
34100 #3/I L 100 6, 264 3,132 3,132 3,132 ‘Hig 24—
34200 N 50 5, 292 162 86 86 | K%y 50kg
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54 R i i e | g0
a—F dh SRR | PER (kg) %8 (F) sl | | PE HE (B4T)
34572 ST U A () G 2,138 194 194 194 | &5 111
36200 fE&h%E n 2L 50 9,180 1,836 1,836 1,836 JtifisE 54—
36600 mEFhE Lk | 4o  6,264] 3,132 3,132 3,132 dtifE | 24—
37200 L x 9 A8 2L 8 2,808| 1,404| 1,404 1,404 |H[E 25—

33400 L A L 11 4,471 140 140 108 | E5F 36(H
32900 Y — | 2 2,592 1,296 1,296 1,296 £E oA
33600 < U 0 378 216 216 162 BEA 245
33300 T myaY— 2 1,296 162 162 162 | dbifE 818
31310 ATE - 4 2,376 119 119 119|fmE 208
31500 /NEASE 30 11, 556 97 65 65 |t [ 1504%
32500 AolE 1 1,296 1,296 1,296 1,296 &[] 1r—=
32500 Hoix | |1 1 756 76 76 76| @M 103K
37560 BIIT 1 3,132 432 324 216 | K4y 1075y 7
38400 % DX 5 1,944  1,944| 1,944 1,944 | El 14— 2
38521 SR LOHLE 6 6, 156 103 103 103 | #& [ 60%%
Y4008 N ALAA 6 4,752 238 238 238 | 20,3 7
Y4008 | N AT A L 20 6,318 1,620] 1,620 1,458 |A& 44— R
Y4005 (AL R 15 8,424 |  8,424| 8,424 8,424 7 AUH 1H—R
42320 Yz FIa—A R 10 6,696, 6,696 6,696 6, 696 7z 1 —2
45230 EMERY S 16 11, 232 756 756 648 | REA 164 —
45000 S5 4 1,728 864 864 864 | & 24— A
45240 EA—RHE D 6 6, 804 2,268 2, 268 2, 268 | t& 3r—=
Y4040 | T — Y — 3 2,074 65 65 65 I 32,3y 7
44304 B4k M 6 3,996 216 216 184 K% 2003 7
49100 NFF 132 19,548 | 3,888 1,188 1,188 74 UEL 117 —=%

o - AFEt 1,330 371,825 |
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